Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-40320 Pivot Door\C - Drawings\FL-40320.1.dwg

FLEETWwWOOD

WINDOWS & DOORS

"IMPACT"

SERIES 4400-T PIVOT DOOR

December 14, 2021 E‘%

II,I”
74.5" MAX. O.A. FIN
WIDTH
72" MAX. O.A. FRAME 72" MAX. O.A. FRAME
GENERAL NOTES WIDTH WIDTH
This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building < 61.75"MAX.DLO. 61.75" MAX. D.L.O.
Code (FBC) structural requirements including the "High Velocity Hurricane Zone" (HVHZ). Wi WIDTH
| |
Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base : i
material shall be beyond wall dressing or stucco. ! 4 ’ |
| 4// 4// |
When used in the "HVHZ" this product complies with Section 1626 of the Florida Building Code and I / 4 i
does not require an impact resistant covering. T l = T .
25 i 593 |
L
When used in areas outside of the "HVHZ" requiring wind borne debiris protection this product L &4 i ; L o i
complies with FBC Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. g o | T E o ,
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM E 1996 and FBC ¥ 55 X < 53 X |
Sections 1609.1.2.2 & R301.2.1.2.1. < = O £ 5 !
S % | - 29 % | =l
For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x = % | f 2 5 |
buck masonry construction. z o @= ! I « = vl
= | s R & pr 1]
Site conditions that deviate from the details of this drawing require further engineering analysis by a | i
licensed engineer or registered architect. ; i !
4// ! /// !
This product has been tested to a maximum 20.0 psf for water infiltration. When used in the "HVHZ", i | /]
this product does not meet the water infiltration requirements for the "HVHZ" and shall be installed ' ’
only in non-habitable areas or at habitable locations protected by an overhang or canopy such | !
that the angle between the edge of canopy or overhang to sill is less than 45 degrees. _| PIVOTHINGE PIVOT HINGE
PT. @ 36 PT. @ 9" MIN. ~
Aluminum components, including fasteners, shall meet the requirements of FBC Section 2003.
FRAME MOUNT FIN MOUNT
Gaskets shall comply with FBC Section 2411.3.4.
TABLE OF CONTENTS
T THEEREDN FRAME PIVOT HINGE F’m\)& g'fé' GLASs | DESIGN PRESSURE (PSF)
T [ Typical elevafions, design pressures & general notes TYPE LOCATION piMENsioN | pimension | TYFE [ posmve [NEcATIVE
2 Elevations
3 Horizontal cross sections FRAME MOUNT |CENTERLINE ONLY| 72.0" X 120.0" | 61.75" X 109.13" |G1,G2| +60.0 -65.0
4 Vertical cross sections S T
5 Buck anchoring . " n " " .
5 Frome anchoring FRAME MOUNT CENTERLINE 72.0" X 120.0 61.75" X 109.13" |G1,G2| +55.0 55.0
7 Fin anchoring 9" MIN. TO - " - "
) Components FIN MOUNT CENTERLINE 72.0" X 120.0 61.75" X 109.13" |G1,G2| +55.0 -55.0
9 Bill of materials & glazing details

Valrico, FL 33595

A

”,
%
BUILDING CONSULTANTS, INC.

Documents Prepared By: <,
Lyndon F. Schmidt
P.E. No. 43409
P.O. Box 230,
Phone No.:

813.659.9197

FBPE Registry No. 9813

, DESIGN '%CM/

FLEETWOOD
SERIES 4400-T
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

BY

=
<t
a
o
z

REVISIONS

DATE: 12/08/21

SCAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—40320.1

sHEEr 1 oF 9

© 2021 R.W. BUILDING CONSULTANTS INC.



\) i
O A 4,’/,,
\\ & o* ' . /a ,/ [y}
\\ Q-" ..‘ ,/ o
< s.‘ o o 2 2 g
=3¢ 4 g 8. A=d M
- Ozg 14 <k : L=z ~
=293 2 GOl ¢55
A YOS ZLq0
RS o 0 > g o
7 * o > 0906
7 AL TP 1 A) 53>42
“ ﬂD \X 2S5
7 11 1} \.\ % R Q
Jf. CTsw
e OO MANUAL SHOOTBOLTS Sl gF=e
. o
LEVER MANUAL SHOOTBOLTS ACTIVATED BY DUAL MANUAL SHOOTBOLTS <859 558
p ACTIVATED BY DUAL POINTLEVER p | ACTVATEDBYDUAL  \[\ ZIE 8% 22 2
5 | POINTLEVER = . : 1 — POINT LEVER é 2 .:zo §
] AT b E 0
l 8|3 Bu
(27 l ! / A ' 25
XV, J )/
/ / !
[
! T
N . L 2§ 3
~ cop =
&/ MANUAL ROTATING LOCK 3/ ! MANUAL ROTATING LOCK % M ’EE
! (2 PT. TONGUE) MULTI-POINT (2 PT. TONGUE) bowls o
MANUAL LEVER LOCK ! o Elo @
| X (3PT) . |2
MULTI-POINT @ X 5 3
MANUAL LEVER LOCK ] 'l ! 3 e
(5PT.) @ ! @t I il & &
(2 ' .
I ~ 3 m
\ E u 'E
¢ T3
DUAL POINT LEVER LOCK _ - DUAL POINTLEVERLOCK ! .
{(MANUAL SHOOTBOLTS) R 0 (MANUAL SHOOTBOLTS) 2
H l = 8 - ;;_ 8 %
™ / - - i = <
) ! y o / =
D ! / // 1 g
] Il[ | : E\ |
- ' = ] =
/ 3 I \ 3
MANUAL SHOOTBOLTS MANUAL SHOOTBOLTS MANUAL SHOOTBOLTS PIVOT HINGE .| MANUAL SHOOTBOLTS "
ACTIVATED BY 5 PT. ACTIVATED BY DUAL ACTIVATED BY DUAL Pr.@9" ACTIVATED BY DUAL =
LEVER - P‘\[’,?T@Hgi?‘f — POINT LEVER POINT LEVER POINT LEVER o
' INTERIOR VIEW INTERIOR VIEW S
SHOWN w/ FRAME MOUNT SHOWN w/ FIN MOUNT o 12,/08,/21
scue:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—40320.1
SHEET _2 oF _9

Z\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-40320 Pivot Doon\C - Drawings\FL-40320.1.dwg

© 2021 R.W. BUILDING CONSULTANTS INC,



TON| SANVLINENGOD aNIQing

MM Lgne g

€186 'ON Aisibey Id€d
L616°659°CL8 "ON 8suoyd

GBESEE T4 ‘OOMIDA ‘0£Z Xog ‘O'd \§
*ONI “SINVLINSNOD ONIATING @
zao—___sssxx

e WNOL
//yw Orol%/ 60¥CH "ON "I'd
u..-.‘.o.u-%@ \\\\ PO ‘4 UopukT]

7. :Ag peindeld sjuswInooq

SNOISIATY

SNOILO3S SSO¥D ]
WINOZIHOH A8 31vd [ON N
"KIENISSY ¥0 Luvd Q|| *

=

1-00%% SIS NS
aoomL3 T4 B
. g m g
-13NA0xd S a

LFS
FL—40320.1

SHEET _3 oF _9

CHK. BY:
DRAWING NO.:

<. 120C ¥l Jequiadsq
X

-
-
-
o~

)
. .
] [}
[ .
* -
. .
. .
. 3
[y I

.

»

G1) G2

EXTERIOR

3
16

HORIZONTAL CROSS SECTION

1X Buck Construction

INTERIOR

= 60VEY ON N
- vy
\\\ N .ot I,
~, &Qmmzmoa) N
U, Q\@IO@ szzz//
T
Zo
) zE
I g
T =
e UL
q V . - \
v LA v : ” v : w
: s I3 v v -V
N . 4
o~ O

(2
N

/ 1"\ HORIZONTAL CROSS SECTION

\3_/ 2XBuck Construction

EMB. (TYP.)

EXTERIOR

INTERIOR

/3" HORIZONTAL CROSS SECTION

e \_3_/ shown w/ Nail Fin Installation

1-1/4" MIN,
EMB. (TYP.)

Bmp'L'0Ze0p-Td\sBumeIq - H\W00Q 10Md 0ZE0Y-14\sleroiddy 1onpold epHOlY - VALNINYINYId POOMISSIA\SIUBIDN'Z




TAON SANVLINSNGOD aNIaing "M —ND.N @

T186 ON Ansibey 3dad SNOISIATY
LB1E6G9°CLR I'ON euoyd mzom%wmmmmomo Ad ALvd [ONI = 9_
S6SEE T4 ‘OOUIDA ‘OSZ X08 ‘O'd \§ NI IS
"ONI ‘SINVLINSNOO ONIaing gﬁ "ATHNISSY d0 Livd 3 M 7. R1s
1-00%% S3Id3S N " 2% v
60¥S¥ "ON ‘3I'd - g
o SOVEY, ON 3d 0OMLIT14 el BlEd| g
:LONA0¥d HEIHHEE &
(dAL)@wa _, @
= 60VEY 'ON m \ ‘NIW :.V\ -1 <
“ o;.o -ov g /\/ 24
% oot & e O
\\ &Q S*eeneen " // v o
7 \SIOW 3 W =
\\\\ ’/// < Z N
ITINY N N o
; O =6
S N — 2|5
4 v u @ O “ M
a2
; rm \ _ Sl
v R =
. VPV OIF
a) T (K
o V|3
, Els
< o ae .m
v > A
mw

o
O
24
[N
< B
o | aned
@]
(24
= =
Z
= o
3]
| T
(75
3|8
e
Ul
-5
<|O
O] RV
ElS
[« 4 =
S|=
o
- (dAl)awa __,
o "NIW 7761
O
[«74
2 (=)
Ok 108
"dAL) "aw3 &
NIW /61 i N >
T e 6% O
. WM =
PW (@)
50 &
S0 ey
O @«
Ew O
Tm a
TE 3
<
O
|
i
S
)

INTERIOR

SN 3
et

4

o

3

(VT ]

L2 ] - .
() ﬂ 24— g2 g z
.q, < X I _W,‘- o a .W ” W
4 " b =] ll“!lJf_ \h *.wl w—d m @/ M
,,4u,;‘,,fﬁ?,ﬁ,.,.,,....,,;,, "..u!l ) !A A C o.
L n:$$:\” -L“'rl m m ,@ @ W
oS 1| (2) El|2 b3
o > N O
sl < @ D F oy
I & & 2
ST o) Z
4 ! pod [
/\/ @ m . o m
<
(53]
("dAL) gW3
NIW F/1-1

Bmp’L 0ZE0-14\sBuIMeIq - D\0OQ 10Ad 0ZE0P-T4\s|eciddy 3OnPOId BPLOI - VALNINVINYId POOMISS\SIUBIDNZ



» CON] SINVIIMSNGOD aNIgQTIiNg ‘"M°'d L2202 @
186 'ON Ansibey 3Idad SNOISIATY
LB16°659°CLE ON euoyd A8 3Ivd _[ON| =
$6SEE T4 ‘O0MIDA ‘O£Z X08 ‘O'd \Su INIHOHONY Aona NI = 0 S 9_
"ONI ‘SINVLINSNOD ONIQTING g A1GN3SSY ¥O 1dvd 3 M =1 ) &
1-00%¥ S3N3S N ne 2 ¥ |9
80¥EY "ON ‘I'd -, &2
i e aooML3TT4 i m slulE T |k
110nA0¥d HEIHEE &
o
@ i,
F D
w O <
(dAL) | ey AL T8
= O'0OXYW.G1 — 00
b4 oEo
>
&
5 t t i i i / t i t III.W
N —
P —t
S » | B - - / - - -
—_ T P L]
~ * L a— o Q — =
e ! |C SE = s =
a. -
Ox
“E 0
- <
N
D [ [~ ]
: A R x
RS - v.vvv.. 2
O — * uuc ‘v
& :
& u! « _ ] _ _ ] _ =
. mll.l e o 4.4‘..,, i ] ‘..“.,.,v o ,,.v ,..
N
= S O
= ZzZ Z
5 0%
15
.= (arll | ("dAL)
TE = VAL "D'0 XYW .Sl
«( :.V
» t i i 1 1 1 1
a
_gE =5 0]
T EY 5k 2
Ex | &
& - O
| |k 5
— « N
o — - — — — - <
| T N 3 X
/ qume [a Ry m \ @. _.mlu & =
D s = - EwZz 9
. W A
7 v O m oz ™~
- v £30
. m 50
By | OEF
z
18 m ] } ] ! ] ] } *
| u\ .
2 £2
S 0F
s 0O

Bmp’L0ZE0p-T4\sBuImeIq - D\0OQ 30Md 0ZE0P-T4\s|eAolddy 1onpold epLold - YALNINVINYId POOMIRBIA\SIUBIDNZ




45"

£0.C. (TYP.) ——
<_____3"
l —] |=—#0c.(vp)
SEE LEVER LOCK SHOOTBOLT 1 ,

STRIKE DETAIL
(@ HEAD)

Ny

HEAD

» Y

FRAME

MASONRY
OPENING

__(4pics.

B

j ' ('H )2xBUCK
}
#

« |
| ’JT 2X BUCK
o
] _T |

1

1

1

! 1X BUCK

PIVOT

—-»-—-]6"——--

ik

———l 13.5" L—— l_.., 16"

JAMBS
{TYP.)

I

LEVER LOCK
SHOOTBOLT STRIKE DETAIL

(@SILL)

(4) THROUGH PIVOT HINGE
FLOOR PLATE

FRAME ANCHORING

¥ 3
| 34
DUAL POINT & LEVER LOCK
SHOOTBOLT STRIKE DETAILS
(@ HEAD)
2X BUCK
1X BUCK
T
e
"
2X BUCK
|
1X BUCK
&
2X BUCK
1X BUCK

@)

DUAL POINT LOCK
SHOOTBOLT STRIKE DETAIL

(@ SILL)

QE‘“‘!‘ [—] ‘0!—5;

ROTATING LOCK

TONGUE STRIKE DETAIL

i
%<\~

[ oo ]

%/@

/4

LEVER LOCK
TONGUE STRIKE DETAIL

|
I

.

¢

/;

7

LEVER LOCK LATCH

& DEADBOLT STRIKE DETAIL

December 14, 2021

P.0. Box 230, Valrico, FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

FLEETWOOD
SERIES 4400-T

PART OR ASSEMBLY:
FRAME ANCHORING

PRODUCT:

BY

REVISIONS

@)

NOJ DATE

DATE: 12/08/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-40320.1

SHEET _6 oF _G

ZA\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-40320 Pivot Door\C - Drawings\FL-40320.1.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



=
SEE LEVER LOCK SHOOTBOLT
STRIKE DETAIL
(@ HEAD) 4 **L:% rw DUAL POINT & LEVER LOCK
\ HE A; 1 | =4 SHOOTBOLT STRIKE DETAILS
N HEAD == (@ HEAD)
N e
¢  : . k.\’ . : : i n t i '(i:
< 16" MAX. i~ |
TN —
{TYP.) I .=
A { =
(T HEAD D
BUCK o= J_.
@/ FRAME i J— |
N =
L E
i
U — I8 - |
og JAMBS ,
o= (TYP.)
] 1| THROUGH NAIL FIN i
MASONRY HEAD & JAMBS ! )
@ . OPENING oy o
X \W PIVOT ! ; N
=, wy
o e -t
= - —
o 1 <f =l o |l -
| |
| S * A | ]

{4) THROUGH PIVOT HINGE

FLOOR PLATE
FIN ANCHORING
LEVER LOCK DUAL POINT LOCK
SHOOTBOLT STRIKE DETAIL SHOOTBOLT STRIKE DETAIL
(@SILL) (@SILL)

@&

|
o k] s

ROTATING LOCK
TONGUE STRIKE DETAIL

@<+

/
7

LEVER LOCK
TONGUE STRIKE DETAIL

A\

|

!
LEVER LOCK LATCH

& DEADBOLT STRIKE DETAIL

‘e .
- -
teans

-~

oh R
nw

NAL
I

O
!

/)

‘.'OQOR‘D i

7}

BUILDING CONSULTANTS, INC.

~ \98
”
//,/,

December 14, 2021
Documents Prepared By:«, (A %,

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.O. Box 230, Valrico, FL 33595
813.659.9197

Phone No.:

*T O
=
Qa3
83|y g
MEE

DI =
=4 1] -
L Bl &
£ o
§ o
}_.
o x
& &
>_
m
)
=z
Q
2
|
o
!
<
o
o
zZ

DATE: 12/08/21

SCALE: N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—40320.1

SHEET _7 oF _9

Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-40320 Pivot Doon\C - Drawings\FL-40320.1.dwg

FBPE Registry No. 8813

© 2021 R.W. BUILDING CONSULTANTS INC.



TON] SANVLINSNDOLD aNIiaiing "My 1202 @
£186 'ON Ansibey 3dg4 SNOISIATY
LELBBGI'CLB "ON suUoyd A8 3ivad TONI & . o
S6SEE T4 ‘0oMIPA ‘O£Z Xod O'd § SINANONOD w G\Z g S F_
"ONI ‘SINVLINSNOOD ONIGNS @a IGN3SSY ¥0 Lavd Q= . al°
ly, 1-007¥ S3YIS N s ls =y )
60¥Ey ‘ON '3I°'d A o
@0\\\\\ P, N 2 aoomi33 14 @ m ol m ="
s W :Ag peodeld sjueuinoog 11ONA0oHd 3 ARG 0
L= 120 I 1oquisssq
F¥E \
S
l. II
&
N\
40T
. .
;" 5 -
S S ] =
© 9 . S =
(o3
% s S 2
| |=—.521°0 e b @
- :mw..v m m e
i 3 > |
[ 453 [ .3 w m’ O ..wN._. ¥
Il i 2k =
<
Lt u rulwﬁ @ .MNN
S {
in
3 .
-
:m:v ] ”
= ¥ o
T 5 . DI
[ PO
= — = a
i it i - 3 i1
T T g - 10 ®
- = o~ o
m @
S ~ |
< | 95
(]
:mN-m
:mmoﬁ "6
= o
: z « * 5
a
Y :
2 3 f 3
3y =Y 4
7 s ®
RECE.
fo =
e | :
6’|
o H
By - — 2
o * "V‘ :OO.—. —-—
£1ET ! I -
i =t
. £ b5
S e in 3
S ~ « I.M ﬂ
C « »
"5
&
o .
C — .68 . e
S
[
“ 3 | 2
2 ; -+ | 2
muuﬁd 3
w
C "w\' .* Y 5
: 5k 3 %
S 3 w
[t 1]
.
C —t |=—,521'0 E
| S
——N M
ﬂ o
L2 PN/ 5 @
ST

Bmp'L'0ze0p-Td\sBuimesg - D00 10Ald 0ZE0Y-1d\s|eroiddy 1onpold BPLO}S - VALNINVINYId POOMIBSII\SIUSIDNZ




ZA\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-40320 Pivot Door\C - Drawings\FL-40320.1.dwg

1/2" GLASS BITE—»—
SIKASIL®A5-7< —— 9/16" GLASS THICKNESS

1/4" HEAT STRENGTHENED GLASS

0.090" SENTRYGLAS ®INTERLAYER
1/4" HEAT STRENGTHENED GLASS

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A |1XBUCK [SG >= 0.55) WOOD
B | 2XBUCK [5G >= 0.55) WOOD
C | 1/4"MAX. SHIM SPACE ;
D | 1/4"X 2-3/4" FH DeWALT CONCRETE SCREW [1-1/4" MIN. EMBEDMENT] STEEL
c | MASONRY - 3000 PST MIN. CONCRETE CONFORMING TO ACT CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F | #10X 2-1/2" FH WOOD SCREW (1-1/4" MIN. EMBEDMENT] STEEL
G |1/4X3-1/4"FH DeWALT CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
H | #10X3-1/2" FHH WOOD SCREW (1-3/8" MIN. EMBEDMENT) STEEL
1 |[#8X1-172"PH SMS (1-3/8" MIN. EMBEDMENT) STEEL
K |1/4"X 5 FH DeWALT CONCRETE SCREW (1-3/4" MIN. EMBEDMENT] STEEL
L [3/16"X 3-1/4" FH DeWALT CONCRETE SCREW (1-1/4" MIN, EMBEDMENT) STEEL
M| 3/16" FH DeWALT CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1 |HEAD 6063-T6 ALUM
1A__|HEADW/FIN 6063-T6 ALUM
2 |JAMB 6063-T6 ALUM
2A | JAMBW/FIN 6063-T6 ALUM
3 |PANELSTOP 6063-16 ALUM
4 |TOPRAL 6063-T6 ALUM
5 | BOTIOM RAIL 606316 ALUM
6 | MULTFPOINT LOCK STILE 6063-T6 ALUM
7 | ARCHETYPE LOCK STILE 6063-T6 ALUM
8 [ SUBSILL 6063-T6 ALUM
10 | GLASS STOP (9/16') 6063-T6 ALUM
11| GLASS STOP (1-1/4"] 6063-T6 ALUM
12| FIN SEAL MOHAIR - AMESBURY MOHAR
13| LARGE BULB VINYL (EPDM 70 DUROMETER) - TREMCO VINYL
16 | MINI BULB VINYL (EPDM 70 DUROMETER) - TREMCO VINYL
17 | DROP DOWN SEAL -
18 | SILLPAN -
19 | FRITSJURGENS SYSTEM M PIVOT HINGE -
19A | PIVOT HINGE CEILING PLATE -
198 | PIVOT HINGE TOP PIVOT -
19C | PIVOT HINGE FLOOR PLATE -
21 | MANUAL ROTATING LOCK (2 PT. TONGUE) -
22 | DUAL POINT LEVER ACTIVATED MANUAL LOCK (2 PT. SHOOTBOLTS) ;
23 | MULTI-POINT MANUAL LEVER LOCK (3 PT)) -
25 | #8 X 2-1/2" PFH WOOD SCREW (1-3/16" MIN. EMBEDMENT) STEEL
26 | #8 X 1/2"PFH SMS STEEL
27 | #8X1"PFHSMS STEEL
30 | LEVER LOCK LATCH & DEADBOLT STRIKE PLATE STEEL
31 | LEVER LOCK TONGUE STRIKE PLATE STEEL
33 | ROTATING LOCK TONGUE STRIKE PLATE STEEL
34 | DUAL POINT SHOOTBOLT STRIKE PLATE STEEL

() GLAZING DETAIL

1/2" GLASS BITE

SIKASIL®AS-785 m ~—— 1-1/4" GLASS THICKNESS

Ny

, 1/4" HEAT STRENGTHENED GLASS
0.090" SENTRYGLAS ®INTERLAYER
|~ 1/4" HEAT STRENGTHENED GLASS
— ~— ARSPACE
, [ S~ 1/4" TEMPERED GLASS

ALUMINUM GLAZING SPACER

GLAZING DETAIL

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance fo mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

December 14, 2021

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

BILL OF MATERIALS
& GLAZING DETAILS

FLEETWOOD
SERIES 4400-T
PART_OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ DATE

DaTE: 12/08/21

DeWALT _ 3/16 1-1/4° 2-1/ 1-1/

ScAlE:  N.T.S.

ULTRACON+

/4 1-1/4" - 1-3/4" 2-1/2" 2"

DWG. BY: RW

CHK. BY: LFS

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

DRAWING NO.:
FL—40320.1

SHEET 9 oF _9

© 2021 R.W. BUILDING CONSULTANTS INC.



